3/4" X 1-1/2" X

GALV. STEEL HORIZONTAL ANGLE.

13GAGE MIN.

13 GAGE

OPENING HEIGHT
(NOT OVER
DOOR HEIGHT)

5/16" X

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT
OF THE DOOR.

SHEI
MIN. GALV. STEEL

TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH

1-1/2"LAG SCREWS.

2" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED TO
WINDLOAD TRACK BRACKETS WITH
1/4"-20 X 5/8” TRACK BOLTS

SEE DETAIL "E”

I

74" (9 X B)

STOP MOLDING NAILED EVERY 97
D TYPE NAIL MIN.
LE LE
2"

18 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS.

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"

FOR SPACING.

LAG SCREWS & WASHERS.

NOTE: ALL NON—DES
1/4"-20 X 5

X

PREPARATION OF JAMBS BY OTHERS.

SECTION B-B

CRIPTIVE FASTENERS SHOWN TO BE
/8" HEX BOLTS & NUTS OR

1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

P.S.F. TABLE

DOOR SIZE

DESIGN PRESSURE

TEST PRESSURE

WIDTH | HEIGHT

POSITIVE | NEGATIVE

POSITIVE | NEGATIVE

9’-0"|7’-0"|+31.2|-35.8

+46.8(-53.7

9’-0"[8'-0"[+31.2|-35.8

+46.8(-53.7

USEEI(ZRA1 4" X 3/4"

1/4" X 1/2" LONG
CARRIAGE ‘BOLT & NUT
USE_EXTRA
1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

AL SCREWS.

DETAIL E

ICE))
(3 BRACKETS EACH SIDE)

(9 X 8)
(4 BRACKETS EACH SIDE)

DECORATIVE SHORT EMBOSS,
DECORATIVE LONG EMBOSS
OR FLUSH ON EXTERIOR SIDE.

o”

SEE DETAIL "E”.

21" HIGH SECTION

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER
SEE DETAIL D.

27 GAGE.

2" ROLLER WITH 7/16" DIA. SHORT STEM

14 GAGE GALV. STEEL
END HINGES ATTACHED
WITH (5) SCREWS.
A~ SEE DETAIL C.

STRUT MOUNTED ABOVE HINGE

DRILLING SCREWS.

GALVANIZED STEEL STRUT,
ATTACHED WITH 1/4" X 3/4"
LONG HEX HEAD SELF

DRILLING SCREWS.

(6 PER STRUT FOR 9° WIDE DOOR)

STRUT MOUNTED BELOW #1 HINGE

LAMINATED TO INTERIOR AND
EXTERIOR STEEL SKIN)

NN ¢

/(POLYSTYRENE INSULATION

EXTERIOR MATERAL 27 GAGE | 13 GAGE GALV. STEEL BOTTOM BRACKET

GALV. AND PREPAINTED STEEL

| (

ATTACHED WITH 3 FASTENERS
SEE DETALL F

r

CTION A—-A

SE

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

2560 King_Arthur
Lewisvillg,

FL-PE-51737

John E Scates PE

TX—-PE 56308, F-2203

Professional Engineer's seal
Blvd #124—54 h o o
vd # provided only for verification of
windload construction details.

Digitally signed by John E. Scates, P.E.
Date: 2020.11.10 15:25:05 -06'00'

g\lKTIERIOR GALV. & PREPAINTED STEEL

7 BALL STEEL
—o 10 BALL STEEL OR 11 BALL NYLON ALLOWED

1/47X 3/4” LONG HEX HEAD SELF

STRUT MOUNTED JUST BELOW TOP BRACKEI'—/

19-1/4"

SECTION

-
_G_E@

O.
Y 1 %
©®

Q

AT

NN
s
)

Q

_\
5T

=

SECTION C-C

—={1.25" |-

OPTIONAL SSB GLASS LIGH ALTERNATE CONSTRUCTION
TS_\USING (2) STRU
[

3 W

DE STRU

L

— 275" —+|

DETAIL A

3” 20GA WIDE STRUT

3

(SEE DETAIL A)

OPTIONAL LOC

OPTIONAL:
4 X 16
2) REQ

62) SQ.

20 GAGE

,SIR VENT
IN. MIN.

OTAL OPEN AREA.

OPTIONAL SSB GLASS LIGH‘IS—\
k

DE _STRU

4 W

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

SPRINGS).

OPTIONAL LOC

OPTIONAL:

4 X 16

g

GAGE
(SEE DETAIL A)

JAIR VENT-
IN. MIN.

OTAL OPEN AREA.

< >

L.H.

16 GAGE ENDCAP

&——4YSE ONE EXTRA SELF DRILLING SCREW
THROUGH TOP LEAF OF HINGE,
END CAP AND HINGE PLATE.

DETAIL C

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

1)
v
3
5

.
9’ (SINGLE CAR)

ALTERNATE CONSTRUCTION
USING (2) STRUTS

CENTER HINGES
(1) COLUMN

9’ (SINGLE CAR)

1
\—CENTER HINGES

(1) COLUMN

| |_ nl_—:)

DETA

X 7719

X 8

|_ 5800 SCOTT
STOF Y LITTLE ROGK. AR
S E LR TER N 72209 '
’,"of : "f’_&\l. (501) 562—1872
Fis % “xl) MODELS:
LT oo N ixd 790
4 ) / D |roLLER NoTES, PE ADDRESS| 5/29/20 PART NAME:
I'JOHNESCATES 5 C_|Rev Loco & AboRess|1,/28/13 WINDLOAD RESIDENTIAL SANDWICH DOOR
W3 ~ 56308 .-;3:: B 12/15/11] RLB |TOLERANCE
3 G
.‘?‘i'*'-{/CENSV’/?-' \&: A | 2866 |3/10/08] RLB |FRec: ‘.é'?g NEXT LEVEL |  DATE: DWG. NO.
‘\'{SiéNA‘\'_"Eﬁ_- 2851 [11/1/07] RLB JANG. * 1 11/1/07 | 99—B—088
MASST | [Rev]ecN | DATE: [ApPROV.] SAE | PLOT SCALE | DR BY T or 3



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


3/4" X 1=1/2" X 13GAGE MIN.

GALV. STEEL HORIZONTAL ANGLE:

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT
OF THE DOOR.

ShEef Ml

' 4 13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH

5/16” X 1-1/2"LAG SCREWS.
2" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED
TO TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS

1/4" X 1/2" LONG
CARRIAGE BOLT & NUT
USE_EXTRA
1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

AL SCR

—e

DETAIL D

SEE DETALL "E"

63" (16 X
58" (16 X

OPENING HEIGHT
(NOT OVER
DOOR HEIGHT)

21" (18
16" (16

|
47" (16 X 7)
44" (16 X 8)

X 7)
X 8)

74" (16 X 8)

I

7
8

DETAIL E -

5/8"

(16 X 7)
(5 BRACKETS EACH SIDE),

(16 X 8)
(6 BRACKETS EACH SIDE)

STOP_MOLDING NAILED EVERY 6"

NOTE DOOR MUST BE INSTALLED

SHAFT COLLAR TH EITHER AN ELECTRIC OPERATOR
OR A LOCK. (MUST ENGAGE BoTH
TRACKS ON DOORS WITH EXTENSION
USE 2 EXTRA SPRINGS)-
1/4" X 3/4°
HEX HEAD SELF
DRILLING SCREW

$

d

NE)

o

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER
SEE DETALL D.

CARRIER

g\ll;l'll;iRIOR GALV. & PREPAINTED STEEL
27 GAGE.

2" ROLLER WITH 7/16" DIA. LONG STEM
WITH SHAFT COLLAR
10 BALL STEEL OR 11 BALL NYLON

SEE DETAIL "G"
MOUNTED OVER LOWER LEAF OF

_amGE (SEE DETALL G)

STRUT MOUNTED ABOVE HINGE (SEE DETAL G

14 GAGE GALV. STEEL
END HINGES ATTACHED
WITH (6) SCREWS.
SEE DETAIL C.

STRUT MOUNTED OVER LOWER LEAF OF
#2 HINGE (SEE DETAL G)

STRU'II' MOUNTED BELOW TOP ROLLER /

\

AN

L

IEARIERIE:

ALTERNATE CONSTRUCTION

Z _WIDE_STRUTS (OPTIONAL GLASS SSB) USING (2) fr
3" 18 GAGE ) r ,
(SEE DETALL A) T —
—{1.25" }=— V4
—I— A a A \
3" B 97'
OPTIONAL—*"
LocK z z
f—275" —~ OPTIONAL: N
DETAIL A 4 XR1E%'SIR VENT. C—a —
3" 18GA WIDE STRUT g‘g)TgLsgPEIHA%IENA. | 16' (DOUBLE CAR) LC |
4 SECTION ENTER HINGES
(3) COLUMNS
ALTERNATE CONSTRUCTION
SHAFT COLLAR 9 WIDE STRUTS (OPTIONAL GLASS SSB) USING (2) (S':;T
3” 18 GAGE N \ r ,
(SEE DETALL A) T 722 —
A A A \
g
B
" OPTIONAL
5/8" SPACE: - o o o
DETAIL F OPTIONAL: N
16 AIR VENT —

e
0 SQ IN.  MIN.
OTAL OPEN AREA. I

16’ (DOUBLE CAl |

5 SECTION CENTER HINGES

(3) COLUMNS

°D)
D TYPE NAIL MINIMUM 1/4"X 3/4" LONG HEX HEAD SELF —)
- DRILLING SCREWS.
tE L UT MOUNTED ABOVE #1 HINGE (SEE DETAL G TYP. LOWER STRUT REF— f SHAFT COLLAR
S S ST = == /
; USE TWO EXTRA SELF DRILLING
DECORATIVE SHORT EMBOSS, LONG HEX HEAD SELF SCREWS THROUGH TOP AND ~ / \
DECORATIVE LONG EMBOSS DRILLING SCREWS. BOTTOM LEAF OF HINGE, [o] 1 7
18 GAGE GALV. STEEL CENTER HINGE OR FLUSH ON EXTERIOR SIDE. @ (10 PER STRUT FOR 16’ WIDE DOOR) @ END CAP AND HINGE PLATE: 7
ATTACHED WITH 4 FASTENERS.
STRUT MOUNTED OVER LOWER LEAF OF|
#1 HINGE (SEE DETAL G) —
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16” X 1-1/2" POLYSTYRENE INSULATION 19-1/4"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAL "E". A (LAMINATED TO INTERIOR AND SECTON A o [
EXTERIOR STEEL SKIN) /
SECTION B—B 7 % o <
STRUT MOUNTED OVER THE BOTTOM BRACKET __| TYP. UPPER STRUT REF. o H—
21" HIGH SECTION i DETAIL C o )
EXTERIOR MATERIAL 27 GAGE DEIAL & 7
NOTE: ALL _NON—DESCRIPTIVE FASTENERS SHOWN TO BE GALV. AND PREPAINTED STEEL Als/sr
1/47-20 X 5/8" HEX BOLTS & NUTS OR 13 GAGE GALV. STEEL BOTTOM BRACKET 5/8" SPACE
174" X 3/4" 'LONG HEX HEAD SHEET METAL SCREWS. ATTACHED WITH 2 FASTENERS A DETAIL G LH ; .
SEE DETAILL "F". H- 16 X 7
P.S.F. TABLE SECTION A—A SECTION C-—-C
DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE |N°TE: GLAZING DOES NOT SATISFY IMPACT | ! ’
WIDTH [HEIGHT] POSITIVE [ NEGATIVE | POSITIVE | NEGATIVE 4 SECTION 5 SECTION DEBRIS REQUIREMENTS IN FBC FL 15078| 16 X 8
16'-0"|7"-0"1+35.3|—38.9 | +53.0(-58.4 r
T lar S 5800 SCOTT
16'-0"8'-0"1+35.3|—38.9 | +53.0|-58.4 <<€ OF TAN HAMILTON DR.
SRS Yy LITTLE ROCK, AR
2o\ s 72209
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES ~ % A (501) 562-1872
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17. —
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILTY OF OTHERS. /) 790
5 JOHN E. SCATES 7 D [rouer notes, pe aporess| 5,/29,/20 PART NAME:
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. '056308” C Jev Loco & rooress|1/28,/13) WINDLOAD RESIDENTIAL SANDWICH DOOR
o W4 B
John E Scates PE Professional Engineer's seal "?O.. </ A9 ‘2:’ 2 z/15/u] Rs |
2560 King_Arthur Bivd #124-54 N o 5% S . FRAC.: 1/64 X
2550 Ming, priburegivd # provided only for verification of \‘6‘\9 CENS@ (,\f - A | 2866 [3/10/08] RLB JpE¢ £ ofs NEXT LEVEL 11/[)?1}:67 DWG. NO.
FL:PE_E’; 3308, F—-2203 windload construction details. W\ /{)NA\_\E ~ 2851 [11/1/07| RILB AN(;'CALE T e e By 99—-B-088
e _| [rev]ecn | oate: [apprROV. Bt SHT 2 OF 3



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


3/4" X 1-1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE-

AGE MIN. GALV. STEEL 99
TRACK SPLICE OR FLAG BRACKET.
5/168" X 1—1/2"LAG SCREWS.

" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED TO
WINDLOAD TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS

2" GALV. STEEL 1/4" X 3/4"
HORIZONTAL TRACK SHEET METAL

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT SCREWS \‘@

OF THE DOOR.

(3) 1/4" CARRIAGE BOLTS

FASTEN TO WOOD JAMB WITH

EXTRA

/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

EE DETAIL "E”

74" (16 X 8)

f

OPENING HEIGHT

(NOT OVER
DOOR HEIGHT)

16"

21" (16 X 7)
(16 X 8)

DETAIL D

13 GAGE GALV. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER.
NOTE THAT ROLLER HOLDER
CURL IS TURNED DOWN.
SEE DETAIL D.
STRUT MOUNTED BELOW TOP ROLLER CARRIER J

L

%EMOR GALV. & PREPAINTED STEEL
/ 27 GAGE.

63" (16 X 7)
58" (16 X 8)
f
47" 216 X 7; DETAIL E
44" (16 X 8 (6 X 7)
(5 BRACKETS EACH SIDE)
(16 X 8)
" (16 X 7,
i 516 X a} (6 BRACKETS EACH SIDE)
o

STOP MOLDING NAILED EVERY 6"
D TYPE NAIL MIN.

I—

L
I—

FOR SPACING.

LAG SCREWS & WASHERS.

NOTE: ?I7L NON—DESCRIPTIVE FASTENERS SHOWN TO BE

E GALV. STEEL CENTER HINGE
ATI'ACHED WITH 4 FASTENERS.

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE

2"

DECORATIVE LONG EMBOSS

FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"

PREPARATION OF JAMBS BY OTHERS. SEE DETAIL "E”.

SECTION B-—B

21" HIGH SECTION

EXTERIOR MATHRIAL 27 GAGE
GALV. AND PREPAINTED STEEL

4"-20 X 5/8 HEX BOLTS & NUTS OR |
1/4" X 3/4” LONG HEX HEAD SHEET METAL SCREWS.

DOOR _SIZE

DESIGN PRESSURE | TEST PRESSURE

P.S.F. TABLE

WIDTH | HEIGHT

POSITIVE

NEGATIVE | POSITIVE | NEGATIVE

18'-0"[7'—0”

+31.2

—34.0 (+46.8 |-51.0

h8'—0" 8’—'0"

+31.2

—34.0 [+46.8 |-51.0

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John E Scates PE
Lewisville

FL-PE-51737

2560 King_Arthur Blvd #124—54
75056
TX—PE 56308, F—2203

Professional Engineer’s seal
provided only for verification of
windload construction details.

NOTE: DOOR MUST BE INSTALLED
WITH EMHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS).

” p

o 0

BN

ROLLER WITH 7/16 DIA. LONG STEM
IMTH SHAFT COLLAR
10 BALL STEEL OR 11 BALL NYLON
SEE DETAL "G"
6)
—

T STRUT MOUNTED OVER LOWER LEAF OF-

|

g

DECORATIVE SHORT EMBOSS,
OR FLUSH ON EXTERIOR SIDE.

E—1=— STRUT MOUNTED OVER LOWER LEAF OF —

/—(POLYSTYRENE INSULATION ™
EXTERIOR STEEL SKIN) SECTION

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS |
SEE DETAIL "F"

SECTION A—A

STRUT MOUNTED ABOVE HINGE (DETAIL G)

END HINGES ATTACHED
WITH (6) SCREWS.
SEE DETAIL C.

#2 HINGE (SEE DETAL G)

1/4°X 3/4” LONG HEX HEAD SELF
DRILLING SCREWS.

STRUT MOUNTED ABOVE #1 HINGE
SEE DETAI

GALVANIZED STEEL STRUT,
ATTACHED WITH 1/4" X 3/4°
LONG HEX HEAD SELF
DRILLING SCREWS.

(10 PER STRUT)

#1 HINGE (SEE DETAIL G)

LAMINATED TO INTERIOR AND 19-1/4"

STRUT MOUNTED OVER BOTTOM BRACKET —

7 _WIDE_STRUTS

(SEE DETAIL A)

— 275" —

" 18GA WIDE STRUT

OPTIONAL: LOCK—/ ’

%0 SQ IN. MIN.
OTAL OPEN AREA.

(SEE DETAIL

OPTIONAL: LOCK—/
OPTIONAL:

4 X 16 AIR VENT.

4) REQ'D

§1 0 SQ. IN. MIN.
14 GAGE GALV. STEEL :' OTAL OPEN AREA.
]

()
STRUT MOUNTED OVER LOWER LEAF OF\ @
fllll

DETAIL "F”

DETAIL C

SECTION C-C

(&eomon]

JOHN E. SCATES

AIIRTCLLEIIREETSITXLTIT

</C sﬁo 6\

J REV.|E.C.N.| DATE: | APPROV.

3" 18 GAGE

OPTIONAL SSB GLASS LIGHTS7

ALTERNATE CONSTRUCTION
USING (2)

STRU

[+ ——— E— — R

ONAL:
16 AIR VENT.

18" (DOUBLE CAR)

9 WIDE STRU

—_— OPTIONAL SSB GLASS LIGHTS
3" 18 GAGE 7
A) y 4

GENTER HINGES
(3) COLUMNS

ALTERNATE. CONSTRUCTION
USING (2) STR

=
1

il i A ) e W )

7/

B

18" (DOUBLE CAR)

=

5/8” SPACE

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

TYP. LOWER STRUT REF.j

USE TWO EXTRA SELF DRILLING
SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE,

END CAP AND HINGE PLATE.\

CENTER HINGES
(3) COLUMNS

I—SHAFI' COLLAR
] //
/

|

TYP. UPPER STRUT REF., ——

DETAIL G

&
Q T ‘>
7

(o]
do ,
Q4 7
T \
[e] //

-] |—5/8"
L.H.

FL 15078

18 X 7

18 X &

5800 SCOTT
HAMILTON DR.
LITILE ROCK, AR
72209

(501) 562-1872

MODELS:

790
‘ D |roueR NoEs, pE ADDRESS| 5/29/20 PART NAME:
"’ C [Rev LoGo & ADDRESS 1/28/1 K | WINDLOAD RESIDENTIAL SANDWICH DOOR
> TOLERANCE | W4 B
& B 12/15/11| RLB

A | 2866 [3/10/08] RLB JFRACE1/C4TREXT LEVEL |  DATE: DWG. NO.
2851 [11/1/07] RLB ANG. % T 11/1/07 | 99—B—088
SCALE | PLOT SCALE | DRN. BY

BH

SHT 3 OF 3



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


	99B088-2020-REV D Sheet1
	99B088-2020-REV D Sheet2
	99B088-2020-REV D Sheet3

		2020-11-10T15:24:37-0600
	John E. Scates, P.E.


		2020-11-10T15:24:47-0600
	John E. Scates, P.E.


		2020-11-10T15:24:56-0600
	John E. Scates, P.E.


		2020-11-10T15:25:05-0600
	John E. Scates, P.E.




